-( Math Buzz)

Keia had 16 ounces of milk. She poured an

equal amount of milk into two bowls of cere
How many ounces of milk did Keia pour into
each bowl? (Show your work)

Label each shape as open
al. | orclosed.

J L

answer: ounces

ARG

Represent the number 41,685 on the place value chart below.

M HTh TTh Th

’

Write the number in word form.

Order the numbers from least to greatest.

5293 2,935 3,532

Solve.

(171 + 897) + 6,328 =

519 + (1,973 + 4,756) =
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Roman ended soccer practice at 445 P.M. He was there for 1 hour and 30 minutes.
Use the number line to find what time Roman’s soccer practice started.

+++—+—+—+—+—t++—++—++—t+++—++{+—+—+—++p

3:00 P.M.

Start Time:

4.00 P.M. 5:00 P.M.

Add. (Show your work)

Find the sum of 64,092

and 31,768.

_ =48274+ 17,653

23,936
+ 59,580

Compare each set of numbers using the

words “is greater than”, “is less than”, or
“Is equal fo.”

6,298 6,802

15,183 12,365

Choose the best unit to measure the mass
of a pencil.

grams kilograms

Represent the number 75,329 on the place value chart below.

M HTh

TTh

Th H T (0

’

Write the number in expanded form.
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—( Math Buzz)

Lakeview Elementary has a new Write the number in standard and expanded
playground. Find the perimeter form.
and area of the new school fwenfy-eighi- thousand,
playground. nine hundred thirty-six
9m
standard:
expanded:
ém
Order the numbers from greatest to least.
Perimeter: m 7:908 9:078 81790
Areq: square m
Label the whole numbers as fractions on the Multiply.
number line.
: : : Find the product
3 3 3 of 3and 9.
<+ : >
0 1
0 — — 3
3 3
Hx8=
1 1 1 1 1 1
[} 6 [ 6 6 [
i : i : : > 7
1
g i x 6
6 6




Jimena had 7 tokens to play
games at the school carnival.
Easton had two times as many
tokens as Jimena. How many
tokens did Jimena and Easton
have combined?

(Show your work)

&

Order the numbers from least to greatest.

43,125 15,213 42,351

Draw a line to match each figure.

/ point

line
® ®
line
. segment
answer: tokens « > ray
Write the number in expanded and word form. | Divide.
92 U473 Find the quotient of 36
' divided by 9.
expanded:
30+6=

word:

3]24




W03 TaPEaIZ |5 WA/ TTTY - J9PeayZ LY Z10Z® UBLAdOD

-~

¢,S9WN}S09 [ewIiue apnjoul
S8IUOWBIaD uedlIBWY aAlEN 8y} op AYpA (S

¢1aisou) e s Jeypn (¢

Aiojs |eaiyiAw e ybnouyy uieidxa oy uny
94 Jybiw jeyy ainjeu ui Buiyiewos s jeyp (g

¢ Aepo} a|qe|ieAe ase spoyjowl
Jayjo ybnoy uaas bBuljj@ifio)s anuijuod
sueouawy aAeN Auew yuiyy noA op Aypa (z

1181 01 8S00YD NOA pjnom
S8140]S Jeym ‘a910A InoA Buisn Aq sem Auojsiy
Anwey 1noA anes 0} pey noA Aem Ajuo ayy J (1

*S1amsue 1noA wiiyuod
10 puly 0} Aiessaosau 1aAauaym abessed ay)
0} yoeq ob 0} }ab.0j j,uoq -abessed Buipeas
9y} uo paseq suoljsanb Buimoj|o} ayj Jamsuy

BWON

. ‘ ‘ ‘ /
s)uny Jo s)saAley ‘seeq ‘syuiq ‘sebelew oY1) sbuiy) syelqejeo

Aay] -jusne |e1oads e Joj asedald aqu) ay) djay o0} pjay ale
SBIUOWBIBI JBY)Q "9S|8 BUOBWOS J0) SHOU] JIay} SAeS ||Im Asy)
1By} sadoy sy} Ul S|ewiue ay} Jouoy SaluoWaId 8y "S8Wn)soo
[EWIUB 8SN SBIUOWSI8D UBOLIBWY AN [euonipel) Auep
"ybnoy} ‘wuey a|quus) Aue uesw
1,Useop Ajjeal }] "82UBIUBAUODUI JO B|gNOI} SBSNED UBYO JB)SHOL)
VY "SJayjo uo sayol pue syou} shejd oym Jajoeleyd e S| 1a)syou)
Y "SI8)$Y0L) [ewlue se spob jusioue ay) 88s os|e Asy) I8ASMOH
"Wway} JOA0 yojem sjuids |ewlue ay | ‘einjeu ul punoj sjewiue
JO WO} 8y} 8ye) uayo sjuids ay) ey aAsleq Asy ] sydids ul
Buinaljeq jo Aio)sIy e aAey saqu) uedlswy aAlleN Auep
"9oUslIadxs |elnynd
JIayy Jo yed si1 )| "alopy|o} pue Bulj|8lAI0)s [eJo JO wojisno
8} |nunuod 0} 8sooyd saqu} Auew ‘J1anemoH Aepo) a|qe|iene
aJe Buieilio)s Jo spoyjew uispol oibew pue uoibijal jo
SjusWa|e papn|oul SaLI0)s 8y} Jo Auely "8injnd J18Y} JO Se0lay
1sed Jnoqe spusaba| alem sawog "ainjeu Jo sauv)sAw paulejdxs
18y} syiAw Jo wioj 8y} Ul 8lem saLI0)s J1Ivy) Jo Aue|y "ebenbue)
us)lIM e aAey Jou pip sdnoib ueduswy aAneN AJe3
"910])|0} Pa||eo ale S8lI0)S
9S8y | "SWwo)snd J1ay} 1noge ayods pue salojs [eloads pjo} Asy |
"A10}S1y J18y) umop ssed 0] S82I0A J1ay} pasn A8y "S82I0A UMO
Jiayy Ajuo pey Asy] "usplm aq pinod eyl abenbue| e aaey jou
pip a|doad ‘ybnoy) ‘sAep Ajes ayy uj “asn 0} ABojouyos) aey
os|e am ‘Aepo] "$}00q ul umop way} Bunum Aq weay) sAlesaid
S\ "8INn}N2 INo JO S$8LI0}S pue AIojsIy 8y} ||e Inoge yuly |

a S20U2I2¢ [PID0S/AJI0ISTH :SND0F IDTNIIIIND-SSOI)



‘KMCITD bUZZ J \V/ an 014

There are 438 total students enrolled in kindergarten through eighth grade at
Westwood Charter School for the upcoming school year. The line plot below
shows the number of students per classroom.

P ko e R R Yo Ry  How many classes have 21 students?

key: X =1 class
X
How many classes have fewer than
X X X X X 9sudents?
X X X X X X
XXX XXX XX
(: : : : : : : :) How many total classes at Westwood

18 19 20 21 22 23 24 25 Charter School?
Number of Students Per Class

Write the number in standard and word form. | Circle the object that weighs

50,000 + 3,000 + 200 + 60 + 8 about 3 pounds.

standard:

word:

Subtract. ('show your work ) Round each number to
the nearest thousand.

Find the difference
between 56,423 and 18,365. 72,000 | 4714

- 34,596

38,495
= 65,715 - 21,864
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WEEKLY SENTENCE WORK :|

Oh no! These sentences are full of mistakes. Can you
fix them? Rewrite each sentence correctly.

MONDAY
it was fun Two go shoping for pgjamus

TUESDAY
my Mom asked witch pgjams are your favorite?

WEDNESDAY

| cant weight for bed time so i can ware my new pgjamas

THURSDAY
My Sister putt pop corn in The microwav for use

FRIDAY

we watch a movey and had popcorn in hour pgjamas?




